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Direction (1-5): In each of the questions 
below are given some statements followed 
by two conclusions. You have to take the 
given statements to be true even if they 
seem to be at variance with commonly 
known facts. Read all the conclusions and 
then decide which of the given conclusions 
logically follows from the given statements 
disregarding commonly known facts. 
 
Q1. Statements: 
Some Anchors are Orchid. 
Some Googles are Phonepe. 
No Orchid is Phonepe. 
Conclusion: 
I.  Some Anchors are not googles. 
II. Some googles are not Orchid. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans1. B. If only conclusion II follows. 
 

 
Q2. Statements: 
Only a few Software is Candy crush. 
All Candy crush is Doggle. 
Some Doggle are Apps. 
Conclusion: 
I. Some Software’s are Apps. 
II. All Doggle being software is possibility. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans2. B. If only conclusion II follows. 

 
Q3. Statements: 
Only area is surface. 
Some area is perimeter. 
No perimeter is New. 
Conclusion: 
I. Some New is surface. 
II. Some perimeter is surface. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans3.D. If neither conclusion I nor II follows. 

 
 
Q4. Statements: 
Only few Manager is Good. 
Only few Good are Appstore. 
Some appstore is Like. 
Conclusions: 
I.  All Appstore can be Manager. 
II. Some Like is Good. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans4. A. If only conclusion I follows. 

 
 
Q5. Statements: 
All Callibri’s are Cambria. 
All Cambria are Times. 
No Cambria is Column. 
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Conclusions: 
I. Some Times are not Column. 
II. All Column are not Callibri. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans5. E. If both conclusions I and II follow. 

 
 
 
 
Direction (6-9): In each of the questions 
given below, Some statements are given 
followed by some conclusions. You have to 
assume all the statements to be true even 
if they seem to be at variance from the 
commonly known facts and then decide 
which of the given conclusions logically 
does not follow from the information given 
in the statements.  
 
Q6. Statements:  
Some teaspoons are spoons.  
Some spoons are cups.  
No teaspoon is dealer.  
Conclusion:  
A. All cups can be spoons.  
B. All spoons can be dealer. 
C. Some spoons cannot be dealer.  
D. Some cups can be dealer.  
E. Some cups can be teaspoon. 
Ans6. B. All spoons can be dealer. 

 
Q7. Statements:  
All Rings are horizontal.  
All Necklaces are Rings.  
No horizontal is vertical.  
Conclusions:  
A. All Necklaces are Horizontal.  
B. All horizontal can be Rings.  
C. Some Rings are Necklace.  
D. Some Necklace can be vertical.  
E. All Rings can never be vertical. 
Ans7. D. Some Necklace can be vertical. 

 
Q8.Statements:  
Some tickets are confirm.  
Some confirm are pending.  
Some pending are trains.  
No trains are ticket.  
Conclusion:  
A. Some pending are confirm. 
B. Some tickets can be trains. 
C. Some confirms are not train is a 

possibility. 
D. Some tickets are not trains. 
E. Some ticket can be pending. 
Ans8.C. Some confirms are not train is a 
possibility. 

 
Q9. Statements:  
Some cherries are fruits.  
All tomatoes are fruits 
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All vegetables are cherries.  
Conclusions:  
A. Some Vegetables can be Tomatoes. 
B. Some Tomatoes can be cherries. 
C. All cherries can be fruits. 
D. Some fruits can be cherries. 
E. Some cherries are vegetables. 
Ans9. D. Some fruits can be cherries. 

 
Direction (10 –14): In each of the following 
questions given below contains some 
statements, followed by four conclusions 
numbered I, II, III and IV. You have to 
consider every given statement true, even 
if it does not confirm to the well known 
facts. Read the conclusions and decide 
which of the following conclusion logically 
true.   
 
Q10. Statements: Some even is odd. 
Some odd is integer. 
Some integer is roots. 
Conclusions: 
I. Some even is root is a possibility. 
II. No odd is root. 
III. No even is root. 
IV. Some odd is roots. 
A. Either I or III 
B. Either II or IV 
C. Only I and either II or IV 
D. All of the above 
E. None of the above 
Ans10. (C) Only I and either II or IV 
Explanation: 

 
 
 
Q11. Statements: Some quant are 
reasoning. 

All reasoning are english. 
Some english are arithmetic. 
All arithmetic are tough. 
Conclusions: 
I. Some reasoning are arithmetic. 
II. No english is a quant. 
III. Some english are quant. 
IV. All arithmetic are reasoning. 
A. Only I 
B. I and either II or III 
C. I and III 
D. Either II or III 
E. None of these 
Ans11. (E) None of these 
Explanation: 

 
 
 
Q12. Statements: All methods are 
conclusions. 
No conclusion is optimized. 
All conclusions are solutions. 
Conclusions: 
I. No method is optimized. 
II. No solution is optimized. 
III. Some solutions are optimized. 
IV. All conclusions are methods. 

A. Only I 
B. I and Either II or III 
C. I and III 
D. Either II or III 
E. None of these 

Ans12. (B) I and Either II or III 
Explanation: 
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Q13. Statements: Some free are costly. 
Some costly are annum. 
No annum are economic. 
All costly are invalid. 
Conclusions: 
I. Some invalids are annum.  
II. Some costly are economic. 
III. Some annum are economic. 
IV. All economic are annum. 
A. Only I  
B. Only II 
C. II and III  
D. III and IV 
E. None follows 
Ans13. (A) Only I  
Explanation: 

 
 
Q14. Statements: Some wi-fi is 3G. 
Some 3G are 4G. 
No 4G is a internet. 
Conclusions: 
I. No wi-fi is a internet. 
II. No 3G is a internet. 
III. Some 3G  are not internet. 
IV. Some wi-fi is 4G. 
A. I and II follow 
B. Only III follows 
C. Either I or II follows 
D. Can’t be determined 
E. None of these 
Ans14. (B) Only III follows 
Explanation: 

 
Directions (15-17): In each of the questions 
below are given three statements followed 
by four conclusions number I, II, III and IV. 
You have to take the given statements to 
be true even if they seem to be at variance 

with commonly known facts. Read all the 
conclusions and then decide which of the 
given conclusions logically follows from the 
given statements disregarding commonly 
known facts. 
 
Q15. Statements:  
No smoker is a sincere.  
Some sincere are selfish.  
All selfish are singer. 
Conclusions: 
I. All smokers are not selfish. 
II. Only singers are selfish. 
III. Some singers are definitely sincere. 
IV. All singer being smoker is a possibility. 
A. Either II or IV and III follow 
B. II and III follow 
C. Only IV follows 
D. Only III follows 
E. None of these  
Ans15. D. Only III follows 
Explanation: 

 
Q16. Statements:  
Some cocktail are crocodile. 
Some crocodile are curtain. 
No curtain is a callibion. 
Conclusions:  
I. No crocodile is callibion. 
II. At least some crocodile are callibion. 
III. Some crocodile are not callibion. 
IV. All cocktail are being curtain is a 
possibility. 
A. All follow    
B. Only I follows 
C. Either I or II and III,IV follow   
D. Only II follows 
E. None of these 
Ans16. C. Either I or II and III,IV follow   
Explanation: 
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Q17. Statements:  
Some kinders are joy. 
All joy are happy. 
No happy is a sad. 
Conclusions:  
I. No joy is sad. 
II. Some kinders are not sad. 
III. Some kinders are happy. 
IV. Some happy are not sad. 
A. All follow    
B. Only I, II and III follow 
C. Only II, III and IV follow   
D. Only I, III and IV follow 
E. None of these 
Ans17. A. All follow    
Explanation: 

 
 
Direction (18-22): In each of the questions 
below are given some statements followed 
by two conclusions. You have to take the 
given statements to be true even if they 
seem to be at variance with commonly 
known facts. Read all the conclusions and 
then decide which of the given conclusions 
logically follows from the given statements 
disregarding commonly known facts. 
 
Q18. Statements: 
Some Anchors are Orchid. 
Some Googles are Phonepe. 
No Orchid is Phonepe. 
Conclusion: 
I.  Some Anchors are not googles. 
II. Some googles are not Orchid. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 

C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans18. B. If only conclusion II follows. 
 

 
Q19. Statements: 
Only a few Software is Candy crush. 
All Candy crush is Doggle. 
Some Doggle are Apps. 
Conclusion: 
I. Some Software’s are Apps. 
II. All Doggle being software is possibility. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans19. B. If only conclusion II follows. 

 
Q20. Statements: 
Only area is surface. 
Some area is perimeter. 
No perimeter is New. 
Conclusion: 
I. Some New is surface. 
II. Some perimeter is surface. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans20.D. If neither conclusion I nor II 
follows. 
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Q21. Statements: 
Only few Manager is Good. 
Only few Good are Appstore. 
Some appstore is Like. 
Conclusions: 
I.  All Appstore can be Manager. 
II. Some Like is Good. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans21. A. If only conclusion I follows. 

 
 
Q22. Statements: 
All Callibri’s are Cambria. 
All Cambria are Times. 
No Cambria is Column. 
Conclusions: 
I. Some Times are not Column. 
II. All Column are not Callibri. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans22. E. If both conclusions I and II follow. 

 
 
 
 
Directions (23-25): In each question below 
are given some statements followed by 
some conclusions. You have to assume 
everything in the statements to be true 

even if they seem to be at variance with 
commonly known facts and then find out 
which of the five given conclusions does 
not logically follow from the statements, 
disregarding commonly known facts. 
 
Q23. Statement: 
Only a few Jockie are monkey. 
At least Original are monkey. 
Only monkey are donkey. 
Conclusion:    
A. Some donkey are jockie. 
B. Some donkey are monkey. 
C. All original are monkey is a possibility. 
D. Some jockie are original is a possibility. 
E. All original can be jockie. 
Ans23. (A) Some donkey are jockie. 

 
 
 
 
 
Q24. Statement: 
No lucky is glitter. 
At least plumbers are good.  
All good are lucky. 
Conclusion:        
A. Some plumbers are lucky. 
B. No glitter is good is a possibility. 
C. Some lucky are good. 
D. Some good are not glitter. 
E. All glitters are plumbers is possibility. 
Ans24. (B) No glitter is good is a possibility. 
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Q25. Statement: 
All methods are equation. 
Some patterns are not solution. 
Some methods are pattern. 
Conclusion:        
A. Some equation are pattern. 
B. All solution are pattern is a possibility. 
C. Some solutions are methods is a 

possibility. 
D. Some equation is not Solution. 
E. Some methods are equation. 
Ans25. (D) Some equation is not Solution. 
 
 

 
 
 
 
Direction (26-28): In each question below 
are given two/three statements followed 
by two conclusions numbered I and II. You 
have to take the given statements to be 
true even if they seem to be at variance 
with commonly known facts. Read all the 
conclusions and then decide which of the 
given conclusions logically follows from the 

given statements, disregarding commonly 
known facts.  
 
Q26.Statements:  
All cinemas are a telescope.  
Some telescope is radio.  
All radios are sample.  
Conclusions:  
I. All radio being telescopes is a possibility.  
II. All cinemas being samples is a possibility.  
A. If only conclusion I follows.  
B. If only conclusion II follows.  
C. If either conclusion I or II follows.  
D. If neither conclusion I nor II follows.  
E. If both conclusions I and II follow. 
Ans26. E. If both conclusions I and II follow. 
 

 
 
Q27. Statements:  
Some cinema is telescope.  
Some bollywood is telescope.  
No famous is bollywood .  
Conclusions:  
I. All cinemas being famous is a possibility.  
II. Some telescope is not Bollywood is a 
possibility.  
A. If only conclusion I follows.  
B. If only conclusion II follows.  
C. If either conclusion I or II follows.  
D. If neither conclusion I nor II follows.  
E. If both conclusions I and II follow. 
Ans27. E. If both conclusions I and II follow. 
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Q28. Statements:  
All cinemas are a telescope.  
Some telescope is radio.  
All radios are sample.  
Conclusions:  
I. Some telescopes are not radio.  
II. No sample is a cinema.  
A. If only conclusion I follows.  
B. If only conclusion II follows.  
C. If either conclusion I or II follows.  
D. If neither conclusion I nor II follows.  
E. If both conclusions I and II follow. 
Ans28. D. If neither conclusion I nor II 
follows. 

 
 
Directions (29-33): In each of the questions 
below are given some statements followed 
by some conclusions. You have to assume 
everything in the statements to be true 
even if they seem to be at variance with 
commonly known facts and then decide 
which of the four given conclusions 
logically follows from the statements, 
disregarding commonly known facts, and 
select the appropriate answer. 
 
Q29. Statement: 
Only a few builders are maker. 
All maker is richer. 
No richer is leisure. 
Conclusion: 
I. All richer is builder is a possibility. 
II. Some builder is leisure is a possibility. 
III. No maker is leisure is a possibility. 
A. Only I and III follow 
B. Only I and II follows 
C. Only II and III follow 

D. None follows 
E. Only I follows 
Ans29. (B) Only I and II follows 

 
 
Q30. Statement: 
Only a few umbrella are elephant. 
Some elephant is Google. 
Only Google are expensive. 
Conclusion: 
I. Some expensive are umbrella. 
II. All umbrella are elephant is a possibility. 
III. Some Google is umbrella is a possibility. 
A. Only I and II follows 
B. Only II and III follows 
C. Only I follows 
D. Only III follows 
E. None of these 
Ans30. (D) Only III follows 

 
Q31. Statement: 
Only a few basket is Parker. 
All wonder is parker. 
Only parker is gadget. 
Conclusion: 
I. Some wonder is gadget is a possibility. 
II. Some wonder is basket is a possibility. 
III. Some basket is gadget. 
A. Only II follows 
B. Only I follows 
C. Only II and III follows 
D. Only I and III follows 
E. None of these 
Ans31. (A) Only II follows 
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Q32. Statements:    
All topics are chapters. 
All chapters are rational. 
All rationales are divisional. 
Conclusions:   
I. All chapters are divisional. 
II. All rationales are topic is a possibility. 
III. All divisional are rational. 
A. Only II follows 
B. Only I follow 
C. Only II and III follows 
D. Only I and II follows 
E. None of these 
Ans32. (D) Only I and II follows 

 
Q33. Statements: 
Only a few years are days. 
Only months are hours. 
No day is month. 
Conclusion: 
I. All days are year is a possibility. 
II. Some months are year is a possibility. 
III. All hours are day is a possibility. 
A. Only I and II follow 
B. Only II and III follows 
C. Only I and III follow 
D. All follow 
E. None of the above 
Ans33. (A)Only I and II follow 

 
Q34. Statements: 
Only local is area. 
Some local is neutral. 
Only a few neutral is wisdom. 
Conclusion: 
I. Some area can be wisdom. 
II. All wisdom is neutral is a possibility. 
III. All local is neutral is a possibility. 
A. Only I and III follow 
B. Only I follow 
C. Only II follows 
D. None follows 
E. All follows 
Ans34. (C) Only II follows 

 
Q35. Statements: 
Only a few ribbons are matched. 
Some rayon is matched. 
No fabric is matched. 
Conclusion: 
I. All fabric is rayon is a possibility. 
II. All fabric is matched is a possibility. 
III. Some ribbons are rayon is a possibility. 
A. Only III follows 
B. Only II follows 
C. Only III and II follows 
D. Only I and III follows 
E. Only I follow. 
Ans35.(1) (D) Only I and III follows 
 

 
Q36. Statement: 
All Tricks are Magic. 
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All Magic are officer. 
Some officers are Parker. 
Conclusion: 
I. All Magic are Tricks. 
II. Some Parker are Tricks. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans36. (D) If neither conclusion I nor II 
follows. 

 
Q37. Statement: 
Some Ancient are modern. 
No modern are legal. 
All legal are vectors. 
Conclusion: 
I. All ancient can never be legal. 
II. Some vectors can be ancient. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans37.(E) If both conclusions I and II 
follow. 

 
Q38. Statement: 
All Mikes are weaker. 
No weaker is Quick. 
No mike is Feast. 
Conclusion: 
I. some mikes are not Quick. 
II. Some weaker are not Feast. 
A. If only conclusion I follows. 

B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans38. (E) If both conclusions I and II 
follow. 

 
 
 
Direction (39-41): In each question below 
are given some statements followed by 
some conclusions. You have to take the 
given statements to be true even if they 
seem to be at variance with commonly 
known facts. Read all the conclusions and 
then decide which of the given conclusions 
logically follows from the given 
statements, disregarding commonly known 
facts. 
Q39. Statement: 
Some garlic are not ginger. 
Some garlic are ginger. 
All ginger is vegetables. 
Conclusion: 
I. All ginger can be garlic. 
II. Some garlic can be vegetable. 
A. Only I follow 
B. Only II follow 
C. Either I or II follow 
D. Neither I nor II follow 
E. Both I and II follows 
Ans39. (A) Only I follow 

 
 
Q40. Statement: 
Some vehicle are cheaper. 
No superior is inferior. 
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No brand are cheaper. 
Some brand are superior. 
Conclusion: 
I. Some brand are inferior. 
II. Some brand are not inferior. 
A. Only I follow. 
B. Only II follow. 
C. Either I or II follow. 
D. Neither I nor II follow. 
E. Both I and II follows. 
Ans40. (B) Only II follow. 

 
Q41. Statement: 
All good is bad. 
Some better are worst. 
Some better are bad. 
All better are average. 
Conclusion: 
I. Some worst can be average. 
II. Some good are not average. 
A. Only I follow 
B. Only II follow 
C. Either I or II follow 
D. Neither I nor II follow 
E. Both I and II follows 
Ans41. (D) Neither I nor II follow 

 
 
 
Direction(42-44):In each of the questions 
below are given some statements followed 
by two conclusions. You have to take the 
given statements to be true even if they 
seem to be at variance with commonly 
known facts. Read all the conclusions and 
then decide which of the given conclusions 

logically follows from the given statements 
disregarding commonly known facts. 
 
Q42.Statement: 
Only a few tankers are drums. 
Only a few drums are vaccum. 
Only a few vaccum are flask. 
Conclusion: 
I. Some tankers are flask. 
II. No tanker are flask. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans42. C. If either conclusion I or II follows. 

 
 
Q43.Statement: 
All flask are vaccum. 
All vaccum are container. 
No container is plucker. 
Conclusion: 
I. Some vaccum can be plucker. 
II. No plucker is vaccum. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans43. B. If only conclusion II follows. 

 
 
 
Q44. Statement: 
Only a few Penguins are track. 
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No track is Umbrella. 
Only a few Umbrella are rain. 
Conclusion: 
I. Some track Can never be rain. 
II. Some rain are not track. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans44. B. If only conclusion II follows. 

 
 
 
Direction (45-47):In the question below are 
given some statements followed by some 
conclusions. You have to take the given 
statements to be true even if they seem to 
be in variance with commonly known 
facts. Read all the conclusions and then 
decide which of the given conclusions 
logically follows from the given statements 
disregarding commonly known facts. 
Q45. Statement: 
All quintal is Uniform. 
Only few Uniform is neptune. 
Only few neptune is Zeology. 
No zeology is planet. 
Conclusions: 
I. Some planet not being zeology is a 
possibility. 
II. Some quintal is planet. 
III. Some uniform being neptune is a 
possibility. 
A. Only conclusion II follows. 
B. Both conclusion I and II follow. 
C. Only conclusion III follows. 
D. Both conclusion II and III follow. 
E. None of the above. 
Ans45 . E. None of the above. 
Explanation: 

 

 
 
Q46. Statement: 
Some bricks are fires. 
Only few fire is fevicol. 
No fevicol is telecom. 
All telecom is marble. 
Conclusion: 
I. Some fire is not marble. 
II. Some marble being fevicol is a possibility. 
III. Some telecom is bricks. 
A. Only conclusion II follows. 
B. Both conclusion I and II follow. 
C. Only conclusion III follows. 
D. Both conclusion II and III follow. 
E. None of the above. 
Ans46. A. Only conclusion II follows. 

 
Q47. Statement: 
Only Maharashtra is Andhra Pradesh. 
No Ooty is Goa. 
Some Goa is Gujarat. 
Some Gujarat is Maharashtra. 
Conclusion: 
I. Some Andhra Pradesh being Maharashtra 
is a possibility. 
II. Some Goa is Maharashtra. 
III. Some Maharashtra being Ooty is a 
possibility. 
A. Only conclusion II follows. 
B. Both conclusion I and II follow. 
C. Only conclusion III follows. 
D. Both conclusion II and III follow. 
E. None of the above. 
Ans47. C. Only conclusion III follows. 
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Direction (48-50): Each question consists of 
three statements followed by two 
conclusions numbered I and II. Consider 
the given statements to be true even if 
they seem to be at variance with 
commonly known facts. Read all the 
conclusions and then decide which of the 
given conclusion logically follow from the 
given statements using all statements 
together. Mark your answer as, 
Q48. Statement: 
Some cottons are clock. 
All clocks are floors. 
No floors are worker. 
Conclusion: 
I. Some floors are cottons is a possibility. 
II. Some worker are not clocks. 
A. If only conclusion I follows 
B. If only conclusion II follows 
C. If either conclusion I or conclusion II 

follows 
D. If neither conclusion I nor conclusion II 

follows 
E. If both conclusion I and conclusion II 

follow 
Ans48. B. If only conclusion II follows 

 
 
 
Q49. Statement: 
Some parkers are cheap. 
All cheap are knife. 
All knife are stapler. 

Conclusion: 
I. Some parkers are stapler. 
II. Some stapler can be cheap. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or conclusion II 

follows. 
D. If neither conclusion I nor conclusion II 

follows. 
E. If both conclusion I and conclusion II 

follow. 
Ans49. A. If only conclusion I follows. 

 
 
 
Q50. Statements: 
Only a few purple is a peach. 
All peach are brown. 
Some brown are magenta. 
Conclusions: 
I. Some Peach are magenta is a possibility. 
II. Some brown are not purple. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or conclusion II 

follows. 
D. If neither conclusion I nor conclusion II 

follows. 
E. If both conclusion I and conclusion II 

follow. 
Ans50. A. If only conclusion I follows. 
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Q51. Statements:  
No Parallel is Linear. 
No Matrix is vertical. 
No vertical is Linear. 
Conclusions:    
I. Some Parallel are not vertical. 
II. All Parallel are vertical. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans51. (C) If either conclusion I or II follows. 
 

 
 
Q52.Statements:  
No ice-cream is iron. 
All ice-cream is nature. 
All iron is zebra. 
Conclusions:  
I. Some nature are not zebra. 
II. Some zebra are not nature. 
A. If only conclusion I follows. 
B. If only conclusion II follows. 
C. If either conclusion I or II follows. 
D. If neither conclusion I nor II follows. 
E. If both conclusions I and II follow. 
Ans52. (D) If neither conclusion I nor II 
follows. 

 
 
 
Q53. Statement:  
Some charcoal are tenure. 
Some idioms are quiz. 
Some quiz are funny. 
No tenure is quiz. 

Conclusion:  
I. Some idiom are funny. 
II. No funny is idiom. 
III. Some quiz are charcoal. 
A. Only I is true 
B. Only II is true 
C. Either I or II is true 
D. Only III is true 
E. All is true 
Ans53. (C) Either I or II is true 
 
Explanation: 

 
 
 
Direction (54-55): In the following 
questions, only Conclusion is given and 
statements. From this you have to take the 
statements to be true even if they seem to 
be at variance with commonly known facts 
and then decide which of the given 
statement logically follows. 
 
Q54.Conclusions: 
Some ratios are proportion is a possibility. 
Some heights are cylinder. 
Some heights are ratios. 
All proportions are ratio is a possibility. 
A. Statement I: Some proportions are 

cylinder. Some cylinders are ratios. 
Some ratios are height. 

B. Statement II: All proportions are 
cylinder. Some cylinders are not ratios. 
Some ratios are height. 

C. Statement III: No proportion is cylinder. 
All ratios are cylinder. All ratios are 
height. 
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D. Statement IV: All proportions are 
cylinder. Some cylinders are ratios. All 
ratios are height. 

E. Statement V: All proportions are 
cylinder. No cylinder is ratios. All ratios 
are height. 

Ans54. D. Statement IV: All proportions are 
cylinder. Some cylinders are ratios. All ratios 
are height. 
Explanation: 

 
 
 
Q55.Conclusion:  
All dealers being nervous is a possibility.  
All nervous being tenure is a possibility. 
A. Statements: Some nervous are octagon. 

Some octagons are tenure. No nervous 
is tenure. 

B. Statements: Some nervous are 
octagons. All octagons are dealer. No 
octagon is tenure. 

C. Statements: No nervous is octagons. All 
octagons are tenure. No tenure is a 
dealer. 

D. Statements: Some nervous are 
octagons. All octagons are dealer. No 
tenure is dealer. 

E. Statements: Some nervous are 
octagons. All octagons are dealer. No 
tenure is nervous. 

Ans55. C. Statements: No nervous is 
octagons. All octagons are tenure. No 
tenure is a dealer. 
Explanation: 

 
 
 
Direction (56-58): Read the following 
instructions carefully. And answer the 
following questions given below. 
G = S means “Some G are S”. 
G ~ S means “All G are S”. 
G ^ S means “No G is S”. 
 
Now, statements below are followed by 
two conclusions. You have to take the given 
statements to be true even if they seem to 
be at variance from commonly known facts. 
 
Read all the conclusions and then decide 
which of the given conclusions logically 
follows from the given statements 
disregarding commonly known facts. 
 
Q56.Statements: 
Anchor ^ film. 
Film = gadget. 
gadget = tester. 
tester ~ yolk. 
Conclusions: 
I. film = yolk. 
II. gadget ^ Anchor. 
A. Only I follows. 
B. Only II follows. 
C. Either I or II follows. 
D. Neither I nor II follows. 
E. Both I and II follow. 
Ans56. D. Neither I nor II follows. 
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Q57. Statements: 
Hunters ~ golf. 
Golf ^ Picker. 
Picker = mild. 
Mild ~ seeker.  
Conclusions: 
I. Seeker ^ golf. 
II. Mild = golf. 
A. Only I follows. 
B. Only II follows. 
C. Either I or II follows. 
D. Neither I nor II follows. 
E. Both I and II follow. 
Ans57. D. Neither I nor II follows. 

 
 
 
Q58.Statements: 
hunter = kicker 
kicker = cone 
Cone ~ tenure 
tenure = goal 
Conclusions: 
I. tenure = kicker 
II. Cone = goal 
A. Only I follows. 
B. Only II follows. 
C. Either I or II follows 
D. Neither I nor II follows 
E. Both I and II follow 
Ans58. A. Only I follows. 

 
 
 
Direction (59-61): In each of the following 
question given below consist of six 
statements followed by options consisting 

of three statements put together in a 
specific order. Choose the option that 
indices a combination where the third 
statement can be logically deduced from 
the first two statements and that option 
will be your answer. 
 
Q59.I. Some gram is Quintal. 
II. Some Quintal is kilogram. 
III. All kilogram is gram. 
IV. Some ton are litre. 
V. No litre is quintal. 
VI. All mililitre are ton. 
A. [IV, VI, V] 
B. [I, II, V] 
C. [II, III, I] 
D. [IV, V, VI] 
E. None is correct 
Ans59. C) [II, III, I] 
 

 
 
 
Q60. I. Some mililitre is ton. 
II. All litre is kilogram. 
III. Some litre is quintal. 
IV. Some mililitre is quintal. 
V. Some kilogram is litre. 
VI. Some quintal is kilogram. 
A. [VI, IV, I] 
B. [II, III, VI] 
C. [I, II, IV] 
D. [I , V, III] 
E. None is correct 
Ans60. B) [II, III, VI] 
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Q61.I. No mililitre is ton. 
II. Some quintal is mililitre. 
III. All litre is quintal. 
IV. Some ton is litre. 
V. No quintal is kilogram. 
VI. No litre is kilogram. 
A. [I, II, V] 
B. [II, III, V] 
C. [I, IV, VI] 
D. [III, V, VI] 
E. None is correct 
Ans61. D) [III, V, VI] 

 
 
 
Direction (62–65): In each question below 
are statements followed by conclusion. 
You have to take the given statements to 
be true even if they seem to be at variance 
with commonly known facts. Read all the 
conclusions and then decide which of the 
given conclusions logically follows from the 
given statements disregarding commonly 
known facts. 
 
Q62.Statements: 
No Reddish is Yolk. 
All Yolk are Bird. 
All Pillow are Wheat. 
Some Bird are Pillow. 
Conclusions: 
I. No Pillow is Reddish. 
II. Some Yolk are not Wheat. 

III. Some Pillow which are Birds are also Yolk 
is possibility. 
IV. No Wheat is Bird is a possibility. 
A. Only I follow 
B. Only II and IV follow 
C. Only III follow 
D. Only III and IV follow 
E. None of these 
Ans62. C) Only III follow 

 
 
Q63.Statements: 
All Singles are double. 
No Single is triple. 
No double is triplet. 
All triplet are zero. 
Conclusions: 
I. Some Single are zero is a possibility. 
II. All triple are triplet is a possibility. 
III. No double is zero. 
IV. Some triplet are triple is a possibility. 
A. All follow 
B. Only II, III and IV follow 
C. Only I, III and IV follow 
D. Only I, II and IV follow 
E. None of these 
Ans63. 4) Only I, II and IV follow 
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Q64. Statements: 
All Antonyms are Synonym. 
All Synonyms are Bracket. 
Some Synonyms are Interrogative. 
No Interrogative is Multiple. 
Conclusions: 
I. Some Interrogative are Antonym is a 
possibility. 
II. Some Bracket are Multiple is a possibility. 
III. Some Interrogative are not Synonym is a 
possibility. 
IV. All Multiple are Antonym is possibility. 
A. All follow 
B. Only I, II and III follow 
C. Only II, III and IV follow 
D. Only I, III and IV follow 
E. None of these 
Ans64. 1) All follow 

 
 
Q65. Statements: 
All Hairs are Heena. 
Some Serum are Hairs. 
All Serum are Shampoo. 
No Heena is Colour. 
Conclusions: 
I. Some Hair which are both Serum and 
shampoo are also colour is a possibility. 
II. Some shampoo which are not Heena are 
also colour is a possibility. 
III. Some Hairs are not Serum is a possibility. 
IV. No Hair is colour is a possibility. 
A. Only I and II follow 
B. Only II and IV follow 
C. Only II, III and IV follow 
D. Only I and IV follow 
E. None of these 
Ans65. 5) None of these 

 
 
Directions (66-69): In each of the questions 
below are given some statements followed 
by some conclusions. You have to take the 
given statements to be true even if they 
seem to be at variance from commonly 
known facts. Read all the conclusions and 
then decide which of the given conclusions 
logically follows from the given statements 
disregarding commonly known facts. 
 
Q66. Statements: Some hillocks are dream. 
All dreams are skitting. 
Some skitting are bouncy. 
No bouncy are angle. 
Conclusions: I. Some angle are skitting. 
II. Some skitting are hillocks. 
III. Some angle are dream. 
IV. Some angle are hillock. 
A. Only I, II and III follow 
B. Only I, II and IV follow 
C. Only II, III and IV follow 
D. All follow 
E. Only II follow 
Ans66. 5. Only II follow 
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Q67. Statements: Some plumbers are 
workers. 
Some workers are drivers. 
All drivers are bouncy. 
No bouncy is a flew. 
Conclusions: 
I. At least some bouncy are plumbers. 
II. All drivers are flew is a possibility. 
III. Some plumbers are both workers and 
driver. 
IV. At least some flew are a driver. 
A. Only IV follows. 
B. Only either II or III follow. 
C. Only III follows. 
D. Only I follow. 
E. None follows. 
Ans67. 5. None follows. 

 
 
 
Q68. Statements: 
All shampoos are conditioner. 
All trimmers are shampoo. 
No conditioners are trunk. 
Conclusions: 
I. All shampoo are not trunk. 
II. All conditioners are trimmer. 
A. Only conclusion I follows. 
B. Only conclusion II follows. 
C. Either conclusion I or conclusion II 

follows. 
D. Neither conclusion I nor conclusion II 

follows. 
E. Both conclusion I and conclusion II 

follows. 
Ans68. 1. Only conclusion I follows. 
 
 

 
 
 
Q69. Statements: 
All mentors are hackers. 
Only few mentors is selfish. 
No breach is mentor. 
Conclusions: 
I. All breach are hackers is a possibility. 
II. All hackers are selfish is a possibility. 
III. No selfish is hacker. 
A. Only I is true 
B. Both I and II is true 
C. Only II is true 
D. Both II and III is true 
E. None of these 
Ans69. B.Both I and II is true 
Explanation: 

 
 
Directions (70-71): In the question below 
are given four statements followed by two 
Conclusions 
numbered I and II. You have to take the 
given statements to be true even if they 
seem to be at 
variance from commonly known facts. 
Read all the statements and then decide 
which of the given 
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Conclusions logically follows from the 
given statements disregarding commonly 
known facts. 
 
Q70. Statements: 
Some tomato is potato. 
No potato is brinjal. 
No brinjal is bean. 
Some beans is onion. 
Conclusions: I. Some onion can never be 
brinjal. 
II. All tomato being bean is a possibility. 
A. Only I follows. 
B. Only II follows. 
C. Either I or II follow. 
D. Neither I nor II follows. 
E. Both I and II follows. 
Ans70. (E) Both I and II follows. 
Explanation: 
              

 
 
Q71. Statements: 
No gun is bullets. 
No bullet is rifle. 
All bullets is lake. 
No river is lake. 
Conclusions: I. Some river being rifle is a 
possibility. 
II. All guns can never be rifle. 
A. Only I follow. 
B. Only II follows. 
C. Either I or II follow. 
D. Neither I nor II follows. 
E. Both I and II follows. 
Ans71. (A) Only I follow. 
Explanation: 
 

                 
Direction (72-74): In each question below 
some statements are given followed by 
some conclusions. You have to take the 
given statements to be true even if they 
seem to be at variance with commonly 
known facts. Read all the conclusions and 
then decide which of the given conclusions 
logically follows from the given 
statements. 
 
Q72. Statements: 
Each basket are Plastic. 
All plastic are Costly. 
Frequently baskets are bucket. 
No good is bucket. 
Conclusion: 
I. Some basket which are bucket are also 
plastic. 
II. Some plastic which are bucket are also 
costly. 
III. Some basket which are plastic are also 
good is a possibility. 
IV. Some costly are not good. 
A. Only I and III are follow 
B. Only I and II are follow 
C. Only II and IV are follow 
D. All follows 
E. Only I and either II or IV follow 

Ans72. D) All follows 
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Q73. Statements: 
All Gudget are result. 
Some pass are result. 
Some pass are not fail. 
No average is result. 
Conclusions: 
I. Some pass which are result are also fail is 
a possibility. 
II. Some average are not Gudget. 
III. Every Gudget are fail. 
IV. Some result which are Gudget are also 
fail is a possibility 
A. Only I and III are follow 
B. Only I, II and IV are follow 
C. Only II and IV are follow 
D. Only I is follows 
E. Only I and either II or IV follow 
Ans73. B) Only I, II and IV are follow 

 
Q74. Statements: 
All Distance are direction. 
Some distance are pythagoras. 
Some direction are not perfect. 
Some perfect are not tunnel. 
Conclusion: 
I. No perfect is distance. 
II. Some tunnel are direction. 

III. Some pythagoras are not tunnel. 
IV. Some distance are perfect. 
V. All pythagoras are tunnel. 
A. None follows 
B. Only IV follows 
C. Only II and III are follow 
D. Either I or IV and either III or V follow 
E. Either III or IV are follows 
Ans74. A) None follows 

 
Direction (75-77): In each of the questions 
below are given some statements followed 
by some conclusions. You have to take the 
given statements to be true even if they 
seem to be at variance with commonly 
known facts. Read all the conclusions and 
then decide which of the given conclusions 
logically follows from the given statements 
disregarding commonly known facts.  
 
Q75. Statement:  
Only a few Bamboo are Sulphur.  
All Sulphur are Magnesium.  
Some Iodine are not Magnesium.  
Conclusion:  
I. Some Bamboo are not Iodine.  
II. Some Sulphur are not Bamboo.  
A. If only conclusion I follows.  
B. If only conclusion II follows.  
C. If either conclusion I or II follows.  
D. If neither conclusion I nor II follows.  
E. If both conclusions I and II follow. 
Ans75. D. If neither conclusion I nor II 
follows.  
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Q76.Statement:  
All Sulphur are Iodine.  
All Iodine are Berium.  
Some Carbon are Berium.  
Conclusion:  
I. Some Sulphur can be Carbon.  
II. All Carbon are Berium.  
A. If only conclusion I follows.  
B. If only conclusion II follows.  
C. If either conclusion I or II follows.  
D. If neither conclusion I nor II follows.  
E. If both conclusions I and II follow. 
Ans76. A. If only conclusion I follows.  

 
Q77.Statement:  
Some Sulphur are Metal.  
Some Metal are not Non-metal.  
Conclusion:  
I. All Sulphur can never be Non-metal.  
II. Some Non-metal are not Metal.  
A. If only conclusion I follows.  
B. If only conclusion II follows.  
C. If either conclusion I or II follows.  
D. If neither conclusion I nor II follows.  
E. If both conclusions I and II follow. 
Ans77. D. If neither conclusion I nor II 
follows.  

 
Directions (78-80): In each question below 
are given some statements followed by 
some conclusions. You have to take the 
given statements to be true even if they 

seem to be at variance with commonly 
known facts. Read all the conclusions and 
then decide which of the given conclusions 
logically follows from the given 
statements, disregarding commonly known 
facts.  
 
Q78. Statements: 
Some saloon’s are acedemy.  
All academy are merger.  
only few mergers are legal.  
Conclusions:  
Some legal are saloon is a possibility.  
No acedemy are legal.  
Some mergers are saloon. 
A. Only I follows. 
B. Only III follows. 
C. Both I and II follows. 
D. Both I and III follows. 
E. None of these. 
Ans78. D) Both I and III follows. 
Explanation: 

 
 
Q79. Statements: 
Only a few peacocks are baloon.  
No baloon are oracle.  
All oracle are garden.  
Conclusions: 
No oracle is peacock. 
Some Garden is baloon is a possibility.  
All peacock is baloon is a possibility. 
A. Only III follows. 
B. Both I and II follows. 
C. Only II. 
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D. Both II and III follows. 
E. None of these. 
Ans79. (B) Both I and II follows. 
Explanation: 

 
Q80. Statements: Some scientists are 
doctors. 
Some doctors are engineers. 
All engineers are psychologists. 
Conclusions: I. Some doctors are 
psychologists. 
II. Some psychologists are scientists. 
III. Some engineers are not scientists. 
A. Only III follows 
B. Only I follows 
C. Only I and either II or III follow 
D. Only I and II follow 
E. None of the above 
Ans80. (B) Only I follows 
Explanation: 

                 
 
Directions (81-90): Each of the following 
question consists of certain conclusions 
followed by five groups of statements. 
Consider the given conclusions to be true 
even if they seem to be at variance from 
commonly known facts. Read the 
conclusions and then decide from which 
statement the conclusion can be drawn. 
 
Q81.  Conclusions: 
I. Some hackers are zebra. 

II. No water is war. 
A. Statement: Some waters are zebra. All 

waters are hacker. No hacker is a war. 
B. Statement: Some waters are zebras. 

Some wars are hackers. No hacker is a 
war. 

C. Statement: No water is an zebra. All 
waters are hackers. No hacker is a war. 

D. Statement: Some waters are zebras. All 
waters are hackers. Some hackers are 
wars. 

E. None of these 
Ans81. A. Statement: Some waters are 
zebra. All waters are hacker. No hacker is a 
war. 

 
 
Q82. Conclusion: 
I. Some rockets are minerals. 
II. Some minerals are coconut. 
A. Statement: Some coconuts are bucket. 

All buckets are minerals. No mineral is a 
rocket. 

B. Statement: No coconut is a bucket. All 
buckets are minerals. All minerals are 
rocket. 

C. Statement: All coconuts are bucket. All 
buckets are minerals. Some minerals are 
rocket. 

D. Statement: Some coconuts are buckets. 
Some buckets are minerals. Some 
minerals are rocket. 

E. Statement: No coconut is a bucket. No 
bucket is a mineral. Some minerals are 
rocket. 

Ans82. C. Statement: All coconuts are 
bucket. All buckets are minerals. Some 
minerals are rocket. 
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Q83.Conclusion: 
Some weapons are riders. 
No shine is a rider. 
Some weapons are dangerous. 
Some dangerous are riders. 
A. Statements: Some shine are dull. Some 

dull is a rider. Some riders are 
dangerous. All dangerous are weapons. 

B. Statements: All shine are dull. No dull is 
a rider. Some riders are dangerous. All 
dangerous are weapons. 

C. Statements: All shine are dull. No dull is 
a rider. No rider is dangerous. No 
dangerous are weapons. 

D. Statements: All shine are dull. All dull is 
a rider. Some riders are dangerous. All 
dangerous are weapons. 

E. Statements: Some shine are dull. No 
dull is a rider. Some riders are 
dangerous. All dangerous are weapons. 

Ans83. B. Statements: All shine are dull. No 
dull is a rider. Some riders are dangerous. 
All dangerous are weapons. 

 
 
 
Q84. Conclusion: 
I. Some periods are adequate. 
II. All periods being queries is a possibility. 
A. Statement: Some queries are perfect. 

All queries are adequate. No adequate 
is a period. 

B. Statement: All queries are periods. No 
query is an adequate. No adequate is a 
perfect. 

C. Statement: All queries are periods. 
Some queries are adequate. No 
adequate is a perfect. 

D. Statement: No queries is a periods. All 
queries are adequate. No adequate is a 
perfect. 

E. Statement: Some queries are not 
periods. All queries are adequate. No 
adequate is a perfect. 

Ans84. C. Statement: All queries are 
periods. Some queries are adequate. No 
adequate is a perfect. 

 
 
 
Q85. Conclusion: 
I. All films being promo is a possibility. 
II. All films are stars. 
A. Statement: All cassettes are stars. All 

films are cassette. Some stars are 
promo. 

B. Statement: Some cassettes are stars. All 
films are cassette. Some stars are 
promo. 

C. Statement: All cassettes are stars. All 
films are cassette. No star is a promo. 

D. Statement: Some cassettes are not 
stars. All films are cassette. Some stars 
are promo. 

E. None of these 
Ans85. A. Statement: All cassettes are stars. 
All films are cassette. Some stars are 
promo. 
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Q86. Conclusion: 
I. At least some secondary’s being primary 
is a possibility. 
II. Some primary are bachelors. 
III. All primary can be secondary. 
A. Statement: All secondary’s are 

bachelors. Some bachelors are primary. 
Some primary’s are chalk. 

B. Statement: All secondary’s are 
bachelors. Some bachelors are not 
primary. Some primary’s are chalk. 

C. Statement: No secondary is a bachelor. 
Some bachelors are primary. Some 
primary’s are chalk. 

D. Statement: All secondary’s are 
bachelors. No bachelor is a primary. 
Some primary’s are chalk. 

E. None of these 
Ans86. A. Statement: All secondary’s are 
bachelors. Some bachelors are primary. 
Some primary’s are chalk. 
 

 
Q87. Conclusion: 
I. Some designers are not perfect. 
II. No brand is a precious. 
A. Statement: Some precious are perfect. 

No perfect is a brand. All brands are 
designers. 

B. Statement: Some precious are not 
perfect. No perfect is a brand. All brands 
are designers. 

C. Statement: All precious are perfect. All 
perfect are brands. All brands are 
designers. 

D. Statement: All precious are perfect. No 
perfect is a brand. All brands are 
designers. 

E. None of these 
Ans87. D. Statement: All precious are 
perfect. No perfect is a brand. All brands 
are designers. 

 
 
Q88. Conclusion: 
There is a possibility that some dealers are 
employees. 
Some producers are dealers. 
There is a possibility that some employees 
are guider. 
Some producers are employees. 
A. Statement: No dealers are producer. All 

employees are producers. Some 
producers are guider. 

B. Statement: All dealers are producers. 
All employees are producers. Some 
producers are guider. 

C. Statement: Some dealers are producers. 
No employee is producer. Some 
producers are guider. 

D. Statement: All dealers are producers. 
All employees are producers. No 
producer is guider. 

E. Statement: No dealers are producer. No 
employee is producer. Some producers 
are guider. 

Ans88. B. Statement: All dealers are 
producers. All employees are producers. 
Some producers are guider. 
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Q89. Conclusion: 
Some tariff may be guiders. 
No employee is producer. 
Some tariffs are employee. 
Some guiders are producer. 
A. Statement: No employee is tariff. No 

tariff is a producer. All producers are 
guiders. 

B. Statement: Some employees are tariffs. 
No tariff is a producer. No producers are 
guiders. 

C. Statement: No employee is tariff. No 
tariff is a producer. No producers are 
guiders. 

D. Statement: All employees are tariffs. All 
tariffs are a producer. All producers are 
guiders. 

E. Statement: All employees are tariffs. No 
tariff is a producer. All producers are 
guiders. 

Ans89. E.  Statement: All employees are 
tariffs. No tariff is a producer. All producers 
are guiders. 
 

 
Q90. Conclusion: 
All those dealers that are chalk are also 
weapons. 
All the angles may be dealers. 

Some weapons are angles. 
All chalks are weapon. 
A. Statement: No dealers are chalks. All 

angles are chalks. No chalk is weapon. 
B. Statement: All dealers are chalks. No 

angle is chalk. All chalks are weapons. 
C. Statement: All dealers are chalks. All 

angles are chalks. All chalks are 
weapons. 

D. Statement: Some dealers are chalks. 
Some angles are chalks. Some chalks are 
weapons. 

E. Statement: All dealers are chalks. Some 
angles are chalks. Some chalks are 
weapons. 

Ans90. C. Statement: All dealers are chalks. 
All angles are chalks. All chalks are 
weapons. 

 
 
 
Q91. Conclusions: Some mayank is not 
dumb. Some taller is mayank. 
Statements: 
A. All taller is baller. Some baller is 

chamber. No chamber is mayank. All 
mayank is glamour. All glamour is dumb. 

B. Some taller is mayank. All mayank is 
dumb. No dumb is glamour. All baller is 
glamour. Some glamour is chamber. 

C. Some taller is chamber. All chamber is 
mayank. Some mayank is glamour. No 
glamour is dumb. All baller is dumb. 

D. Some taller is glamour. All glamour is 
dumb. No dumb is chamber. All baller is 
chamber. Some chamber is mayank.  

E. None of these. 
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Ans91. C. Some taller is chamber. All 
chamber is mayank. Some mayank is 
glamour. No glamour is dumb. All baller is 
dumb. 
Explanation: 

 
 
Q92. Conclusions: All rich is weak is a 
possibility. Some younger is boost is a 
possibility. 
Statements: 
A. All weak is boost. All boost is rich. Some 

rich is older. All older is younger. Some 
younger is green. 

B. All weak is older. Some older is rich. All 
rich is boost. Some boost is younger. All 
younger is green. 

C. All weak is green. Some green is rich. All 
rich is boost.  Some boost is older. All 
older is younger.  

D. All weak is younger. Some younger is 
rich. All rich is boost. Some boost is 
older. All older is green. 

E. None of these.  
Ans92. A. All weak is boost. All boost is rich. 
Some rich is older. All older is younger. 
Some younger is green. 
Explanation: 

 
Q93.Conclusions: 
Some Magnet are Nickel.  
At least some Cobalt are Brass.  
Statements: 

Statement 1: Some Brass are Cobalt. Some 
Cobalt are Nickel. Some Nickel are Magnet. 
Statement 2: Some Brass are Nickel. Some 
Nickel are Cobalt. Some Cobalt are Magnet. 
Statement 3: All Brass are Cobalt. Some 
Cobalt are Nickel. No Nickel is Magnet. 
Statement 4: All Brass are Cobalt. All Cobalt 
are Nickel. No Nickel is Magnet. 
Statement 5: Some Brass are Cobalt. Some 
Cobalt are Nickel. No Nickel is Magnet. 
A. Only Statements – 1 
B. Only Statements – 2 
C. Only Statements – 3 
D. Only Statements – 4 
E. Only Statements – 5 
Ans 93. A. Only Statements – 1 
Explanation: 
 

 
 

Q94.Conclusions: 
Some Quant are being Reasoning  is a 
possibility. 
Some English are being Quant is a 
possibility. 
 
Statements: 
Statements 1: All Reasoning are GK; Some 
Quant are GK. No English is Quant. 
Statements 2: All Reasoning are GK; No 
Quant is GK. All English are Reasoning. 
Statements 3: Some Reasoning  are GK; 
Some Quant are GK. No English is Quant. 
Statements 4: Some Reasoning  are GK; 
Some Quant are GK. No English is GK. 
Statements 5: Some Reasoning are GK; 
Some Quants are GK. All English are 
Reasoning. 
A. Only Statements – 1 
B. Only Statements – 2 
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C. Only Statements – 3 
D. Only Statements – 4 
E. Both Statements 4 and 5 
Ans 94. E. Both Statements 4 and 5 
Explanation: 
 
Statement 4: 
Statement 5: 
                    

       

 
 
Q95.Conclusions: 
All Keyboard being Mouse is a possibility. 
No Keyboard is a Desktop. 
Statements: 
Statements 1: Some Keyboard are CPU. No 
CPU is a Desktop. No Keyboard is a Mouse. 
Statements 2: All Keyboard are CPU. No 
CPU is a Desktop. All Dektop are Mouse. 
Statements 3: Some Keyboard are CPU. All 
Keyboard are desktop. No Keyboard is a 
Mouse. 
Statements 4: All Keyboard are CPU. No 
CPU is a Desktop. No Keyboard is a Mouse. 
Statements 5: Some Keyboard are CPU. All 
Keyboard are desktop. All Desktop are 
mouse. 
A. Only Statements – 1 
B. Only Statements – 2 
C. Only Statements – 3 
D. Only Statements – 4 
E. Only Statements – 5 

Ans95. B. Only Statements – 2 
Explanation: 
 

 
Directions (96-100): In each of the 
following questions, two/three statements 
are given are followed by two conclusions I 
and II. You have to take the given 
statements to be true even if they seem to 
be at variance from commonly known 
facts. Read both the conclusions and then 
decide which of the given conclusions 
logically and definitely follows. 
 
Q96. Statements: All almonds are cashew. 
 All cashews are pulp. 
 No pulp is apricot. 
 Conclusions: I. All pulp are cashew. 
 II. Some almonds are not pulp. 
A. Only conclusion II follows. 
B. Neither conclusion I nor conclusion II 

follows. 
C. Either conclusion I or conclusion II 

follows 
D. Only conclusion I follow. 
E. Both conclusion I and conclusion II 

follows. 
Ans96. B. Neither conclusion I nor 
conclusion II follows 
Explanation: 
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Q97. Statements: No Nickel is iron. 
All steel are iron. 
Some nickels are platinum. 
Conclusions: 
I. Some platinum are steel. 
II. Some steel being nickel is a possibility. 
A. Both conclusion I and conclusion II 

follows. 
B. Only conclusion II follows. 
C. Either conclusion I or conclusion II 

follows. 
D. Only conclusion I follow. 
E. Neither conclusion I nor conclusion II 

follows. 
Ans97. E. Neither conclusion I nor 
conclusion II follows. 
Explanation:  

 
 
Q98. Statements: All games are android. 
 All tricky are android. 
Conclusions: I. All androids are games. 
 II. Some tricky being games is a possibility. 
A. Either conclusion I or conclusion II 

follows. 
B. Only conclusion II follow. 

C. Both conclusion I and conclusion II 
follows. 

D. Neither conclusion I nor conclusion II 
follows. 

E. Only conclusion I follows. 
Ans98. B. Only conclusion II follow. 
Explanation: 

 
 
 
Q99. Statements:  
Some cards are plastic. 
Some plastic are wallet. 
No wallet are account. 
Conclusions:  
I. Some account are not plastic. 
II. Some wallet are cards is a possibility. 
III. Some account are plastic. 
A. Only I and II follow 
B. Only I and either II or III follow 
C. Only II and either I or III follow 
D. All I, II and III follow 
E. None of the above 
Ans99. (A) Only I and II follow 
Explanation: 
 

              
 
 
 
 
Q100. Statements: some ring are necklace. 
Some necklace are anklet. 
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No anklet is pendant. 
Conclusions: I. No pendant is a necklace. 

II.Some pendant are necklace. 
III. Some anklet are ring is a possibility. 
A. Only II and III follow 
B. Only III follows 
C. Only either I or II follows 
D. Either I or II and III follow 
E. None of the above 

Ans100. (D) Either I or II and III follow 
Explanation: 
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